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1)
2)
3)

Q1)

d)

g)

J-76 [8129]

Section - A is Compulsory.
Attempt any Four questions from Section - B.
Attempt any Three questions from Section - C.

Section - A
(15 x 2 =30)
1 0 211 |
Find the value of x such that[1 1 x]|0 2 1| [1[=0
2 1 0] |1
Prove that \/ sec? A + cosec’ A =secA cosecA.
Without expanding prove that determinant |
a-b b-c c-a
b-¢c c¢—-a a-b|=0
c—-a a-b b-c
Integrate 1-cos2x.
Determine median of rain fall
DAY Monday | Tuesday | Wednesday | Thursday | Friday | Saturday
RainFall 22 4.0 48 5.1 38 42
(CMS)
sin x -1 : \

lim
Evaluate , _,
~ X

Find the value'ofx for which the points (x, —1) (2,1) and (4, 5) are
collinear. '
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02)

03)
04)

05)

Q6)

Q7)
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h) Differentiate sin (x> + 2x + 3) + log (sin x) w.rt ‘x’.
1) Prove that sin A +sin B = tan .@—i-lg—) .cot é———li .
sin A —sin B 2 2

j)  Find the equation of straight live passing through origin making an angle
tan™! (1/3) with X — axis.

k) Iff(x)=e*and g (x) = log x find fog (x) and gof (x).

) Ina moderateiy Skewed distribution the value of mean and mode are 5
and 8 respectively find median.

1 2 4 3
m) A= B= show that AB # BA .
3 4 2 1

n) What are applications of mensuration in pharmaceutical.

2x
0

Section - B
(4x5=20)
a+b+2c a b
Prove that c b+c+2a b =2(a+b+c)3,
C a c+a+2b

Show that cos 52 + cos 68 + cos 172 = cos 20 + cos 100 + cos 140.

Show that the points (5,1), (1,-1) and (11,4) lie on a straight line. Also find
the equation of straight line.

Find dy/dx when ax? + 2hxy + by* + 2gx + 2fy = 0.
Evaluate _[sec3 xdx.

Section - C

(3 x10=30)
Calculate mean and median
Salary | 90-110|110-130|130-150}150-170 170-190| 190-210|210-230|230-250
(inRs.)
No.of | 55 | €0 70 | 100 | 65 30 20 10
workers




08) Siolve the system of equations using matrix method
2x-y+z+3=0
3x—z+8=0
2x+6y—-2=0

ANy
&

09) (a) Find the ratio in which the line joining (3, —6) and &
is.

(b) Prove that tan 13x —tan 9x — tan 4x = tan 13x tan 9x tan 4x.

Q10) (a) If ¥ = e*¥ prove that & = __log—x.
dx (1+]log x)2

/2 / :
(b) Evaluate f St X dx-

o v/sinx + Jcosx
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